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1. DP-Tabelle mit Losung zu den Teilproblemen
Dimension der Tabelle? Bedeutung der Eintrage?

0. Definiere Teilprobleme
2. Berechnung der Randfille

1. Rekursion:
verbinde die Teilprobleme durch Aufzihlen lokaler Eigenschaften Welche Eintrage hangen nicht von anderen ab (triviale L6sung)?
2. Bestimme Datenstruktur und die Abhangigkeiten der Teilprobleme 3. Berechnungsreihenfolge bestimmen
3. Losen des Problems In welcher Reihenfolge kdnnen Eintrage berechnet werden, so dass

benotigte Eintrage jeweils vorhanden sind?

4. Auslesen der Losung
Wie kann sich Losung aus der DP-Tabelle konstruieren lassen?

Laufzeit: (typisch) Anzahl Eintrage der Tabelle mal Aufwand pro Eintrag.
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Tabulation and memoization are two techniques used in dynamic programming to
optimize the execution of a function that has repeated and expensive computations.
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Memoization is a top-down approach where we cache the results of function calls and return the cached OP - down J Sq— Pe'kur‘$‘v
result if the function is called again with the same inputs. It is used when we can divide the problem into

subproblems and the subproblems have overlapping subproblems. Memoization is typically implemented

using recursion and is well-suited for problems that have a relatively small set of inputs.
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Tabulation is a bottom-up approach where we store the results of the subproblems in a table and use i b Q’I"LM - UP P S ’g‘ ! OV
these results to solve larger subproblems until we solve the entire problem. It is used when we can

define the problem as a sequence of subproblems and the subproblems do not overlap. Tabulation is
typically implemented using iteration and is well-suited for problems that have a large set of inputs.

35{3 . https://www.geeksforgeeks.org/tabulation-vs-memoization/



